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PROPERTIES OF PARALLELOGRAM

Examples Mcq

1. If /BAD = 75° and ZCBD = 60° in the

parallelogram ABCD , then the measurement of

/ZBDC'is -


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VVYxacldzMOu

A.60°

B.75°

C.45°

D.50°

Answer: C

° Watch Video Solution

2. In which one of the following geometric figures,

the length of two diagonals are equal ?

A. Parallelogram


https://dl.doubtnut.com/l/_VVYxacldzMOu
https://dl.doubtnut.com/l/_QlK3bbGC8YoV

B. Rhombus

C. Trapezium

D. Rectangle

Answer: D

o Watch Video Solution

3.In the parallelogram ABCD , M is the mid-point of
the diagonal BD, BM bisects equally ZABC then

the measurement of ZAMB =

A.45°


https://dl.doubtnut.com/l/_QlK3bbGC8YoV
https://dl.doubtnut.com/l/_B4LW6jIDFwoe

B.60°

C.90°

D.75°

Answer: C

o Watch Video Solution

4.f ZACB = 40° in rhombus ABCD, then LZADB

A.50°

B.110°


https://dl.doubtnut.com/l/_B4LW6jIDFwoe
https://dl.doubtnut.com/l/_GNsSfbm7NHl1

C.90°

D.120°

Answer: A

o Watch Video Solution

Examples Short Answer Type Questions

1. If in the parallelogram ABCD ZA:/B = 3:2,

then find the angles of the parallelogram ABCD.

° Watch Video Solution



https://dl.doubtnut.com/l/_GNsSfbm7NHl1
https://dl.doubtnut.com/l/_oSWWUCc4A049
https://dl.doubtnut.com/l/_Cf8wJvhStNuV

2. The bisectors of /A and /B meet at a point E
on the side CD of the parallelogram ABCD . If the
length of the side BC be 2 cm , find the length of

the side AB.

o Watch Video Solution

3. If the equilateral triangle AAOB be into the

square ABCD. Find ZCOD

o Watch Video Solution



https://dl.doubtnut.com/l/_Cf8wJvhStNuV
https://dl.doubtnut.com/l/_6Q5M4zguVHzV

4. M is a point on the side AD of the square ABCD
such that ZCMD = 30°. If the diagonal BD

intersects CM at a point P, then find ZDPC.

o Watch Video Solution

5. The length of AB of the rhombus ABCD is 4 cm

and if ZBCD = 60° then find the length of the

diagonal BD.

o Watch Video Solution



https://dl.doubtnut.com/l/_I1BUx002Wsz0
https://dl.doubtnut.com/l/_YyhVFPNFtKDC

6. In the parallelogram ABCD , AP and DP are the
bisectors of the LBAD and ZADC respectively.

Find the ZAPD

o Watch Video Solution

1. Prove that if the lengths of the two diagonals of a

parallelogram be equal , then the parallelogram is a

rectangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_X7jckOnlm4Dq
https://dl.doubtnut.com/l/_lrKEaEzhJRUx

2. Prove that if the lengths of two diagonals of any
parallelogram be equal and if the diagonals
intersect each other orthogonally, then the

parallelogram is a square.

° Watch Video Solution

3. Prove that if the two diagonals of any
parallelogram intersect each other orthogonally,

then the parallelogram is a rhombus.

o Watch Video Solution



https://dl.doubtnut.com/l/_lrKEaEzhJRUx
https://dl.doubtnut.com/l/_hld4F4mwafA8
https://dl.doubtnut.com/l/_lJ19yHDT7GGS
https://dl.doubtnut.com/l/_AI6cspprDQ5y

4. The diagonals AC and BD of the parallelogram
ABCD intersect each other at O . Any straight line
passing through O intesects the sides AB and CD at

the points P and Q respectively . Prove that OP =

00.

o Watch Video Solution

5. Prove that two angles attached to the parallel
sides of any isosceles trapezium are equal to each

other.

o Watch Video Solution



https://dl.doubtnut.com/l/_AI6cspprDQ5y
https://dl.doubtnut.com/l/_GmUjvE9Oc8a3

6. P is any point on BC of the square ABCD. The
perpendicular , drawn from B to AP intersects DC at

Q . Prove that AP = BQ.

o Watch Video Solution

7. Verify whether the following are zeroes of the

polynomial, indicated against them p(z) = 3z + 1

‘o — 1
atz = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_pomW0asH5uxP
https://dl.doubtnut.com/l/_71JqwL0AEGDA

8 AC is a common diagonal to both the
parallelograms ABCD and AECF. If the points B,E, D
, F are not collinear , prove that BEDF is a

parallelogram.

o Watch Video Solution

9.Find the area and perimeter of an isosceles right

triangle whose hypotenuse side is 12 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_rQKCH2ZJxoCA
https://dl.doubtnut.com/l/_g4SCsMdPpxYL

10. In the parallelogram ABCD, AB = 2AD . Prove that

the bisectors of the angles /BAD and ZABC

meet at the mid-point of DC at right -angles.

o Watch Video Solution

1. The diagonals of which one of the following

geometric figures bisects each orthogonally ?

A. Rectangle

B. Rhombus


https://dl.doubtnut.com/l/_ps5Sf28BTKSP
https://dl.doubtnut.com/l/_31tHt1myIL2Q

C. Parallelogram

D. Trapezium

Answer: B

o Watch Video Solution

2. In the parallelogram

/BAD = 100° and ZCBD = 45°

A.35°

B.45°

C.60°

Y

ABCD ,

then/BDC =


https://dl.doubtnut.com/l/_31tHt1myIL2Q
https://dl.doubtnut.com/l/_QqgDtC25lyne

D.75°

Answer: A

° Watch Video Solution

3. The bisectors of ZA of the parallelogram ABCD

intersect DC at P, If /PDA = 110°, then/APD

A.10°

B.20°

C.30°


https://dl.doubtnut.com/l/_QqgDtC25lyne
https://dl.doubtnut.com/l/_fK3DB7sBg4Km

D.35°

Answer: D

° Watch Video Solution

4, If the difference between
/A and /B(/ZA > /B) of the parallelogram
ABCD be 20°, then/A

A.90°

B.100°

C.105°


https://dl.doubtnut.com/l/_fK3DB7sBg4Km
https://dl.doubtnut.com/l/_dc1jPk0Dcv74

D.110°

Answer: B

° Watch Video Solution

5I1f LZA: /B = 3:1 in the parallelogram ABCD ,

then £ A=

A.45°

B.90°

C.135°

D. 145°


https://dl.doubtnut.com/l/_dc1jPk0Dcv74
https://dl.doubtnut.com/l/_a7F16byOEqxa

Answer: C

o Watch Video Solution

6. If the lengths of the diagonals of the rhombus

ABCD be 6 cm and 8 cm respectively , then the

perimeter of the rhombus is equal to -

A.5cm

B.10 cm

C.15cm

D.20cm


https://dl.doubtnut.com/l/_a7F16byOEqxa
https://dl.doubtnut.com/l/_yvsui5kOfzDa

Answer: D

o Watch Video Solution

7. The other angles of the parallelogram ABCD, if

one of its angles is 60° , are

A.100°, 60°, 140°

B.120°, 60°, 120°

C.80°,60°, 160°

D.110°, 60°, 130°

Answer: B



https://dl.doubtnut.com/l/_yvsui5kOfzDa
https://dl.doubtnut.com/l/_TRH19u7GyXGH

‘ o Watch Video Solution

8. The perimeter of a parallelogram is 50cm , If the
length of its greater side be 15 cm , then the length
of its smaller side is equal to -

A.8 cm

B.9cm

C.10 cm

D.11cm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TRH19u7GyXGH
https://dl.doubtnut.com/l/_Nf8HTiCpK4fg

9.If in the parallelogram ABCD , AB = (2x+4) cm , DC

= (4x-12) cm and the length of each of the two other

sides of it be (2x-5)cm , then (2x-5) =

A. 10

B. 11

C.12

D.8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Nf8HTiCpK4fg
https://dl.doubtnut.com/l/_KABcSlj9gJuZ

10. Any angle of a quadrilateral is not a right -angle

and its diagonals bisect each other

quadrilateral is a -

A. Rhombus

B. Rectangle

C. Trapezium

D. Parallelogram

Answer: D

. Then the

° Watch Video Solution



https://dl.doubtnut.com/l/_xUIRnEAJ9pO3

Exercise 1 Short Answer Type Questions

1. Find the angles of the parallelogram ABCD , if

LC:/D = 4:5

o Watch Video Solution

2. What is the length of the other diagonal of a
rhombus , if one its diagonal is 12 cm and the sides

of it is 10 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_mI5UEC7KCFlb
https://dl.doubtnut.com/l/_D6mIGsLmp5SM

3. The length of the side AB of the rhombus ABCD is

4 cm and ZBCD = 60° then find the length of AC.

° Watch Video Solution

4. One of the two adjacent angles of a
parallelogram is 18° more than the double of the
other . Find the greatest angle of the

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_y3MNhNVPvMPM
https://dl.doubtnut.com/l/_xKmq9nBOGYzd

5. In the parallelogram ABCD ,

/B — /C =60°.FindZA and 4D

° Watch Video Solution

6. The length of the side PQ of the rhombus PQRS is

6 cm and ZPQR = 120° . Find the length of the

diagonal QS.

o Watch Video Solution



https://dl.doubtnut.com/l/_kWBwgq4fRPk7
https://dl.doubtnut.com/l/_zdaCOHq8VOII

7. In the rhombus ABCD , if

/ABC = 36°, thenfind ZACD.

° Watch Video Solution

8. The bisectors of /A and /B of the
parallelogram ABCD meet at the point P on the side
CD. If the length of the side AB be 4 cm , find the

length BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_vXTsZacBtgUA
https://dl.doubtnut.com/l/_0S03dDaDdP0I

9. The equilateral triangle COD lie into the square

ABCD, Find ZAOB.

o Watch Video Solution

10. M is such a point on AD of the square ABCD that
ZCMD = 60° . The diagonal BD intersect CM at

the point P, then find ZDPC.

o Watch Video Solution

Exercise 1 Long Answer Type Questions


https://dl.doubtnut.com/l/_GqNYvq4IsMmZ
https://dl.doubtnut.com/l/_SPpdC2le8tdk
https://dl.doubtnut.com/l/_RGuq9OO539G6

1. Prove that if one of the angles of a parallelogram

be a right -angle , then it should be a rectangle.

o Watch Video Solution

2. Prove that if two opposite angles and two
opposite sides of any quadrilateral be parallel ,

then it is a parallelogram.

o Watch Video Solution

3. Prove that if the diagonals of any parallelogram

intersect each other orthogonally, then it is a


https://dl.doubtnut.com/l/_RGuq9OO539G6
https://dl.doubtnut.com/l/_xPnlHKIkgut1
https://dl.doubtnut.com/l/_Btyto6YhZTdd

rhombus.

o Watch Video Solution

4. The diagonal SQ of the parallelogram PQRS is
divided into three equal parts at K and L . PK
intersect SR at M and RL intersect PQ at N . Prove

that PMRN is a parallelogram.

o Watch Video Solution

5. Prove that the quadrilateral obtained by

successively joining the mid -points of a


https://dl.doubtnut.com/l/_Btyto6YhZTdd
https://dl.doubtnut.com/l/_uadoCpYsi7hu
https://dl.doubtnut.com/l/_8jiGtlLBlXDB

parallelogram is also a parallelogram.

o Watch Video Solution

6. Find the area of a triangle two sides of which are

18 cm and 10 cm and the perimeter is 42 cm.

o Watch Video Solution

7. E and F are the mid - points of AB and AC
respectively of AABC' . The st. line EF is extended
to the point D such that EF = FD. Prove that ADCE is

a parallelogram.



https://dl.doubtnut.com/l/_8jiGtlLBlXDB
https://dl.doubtnut.com/l/_tbdfYMY12Ly5
https://dl.doubtnut.com/l/_FRjcInYzgt3t

| o Watch Video Solution

8. The diagonals of the square ABCD intersect each
other at O .Let OP 1 AB is constructed. Prove

that ZAOP = /PBO

o Watch Video Solution

9. In the quadrilateral ABCD , AD = BC and

/BAD = ZABC . Prove that the quadrilateral is

an isosceles trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_FRjcInYzgt3t
https://dl.doubtnut.com/l/_rG5BvSRdJxJO
https://dl.doubtnut.com/l/_LlGkOrlhxiPQ

10. If S be the sample space and E be the event then

P(E)=

° Watch Video Solution

11. Find the value of the polynomial 5z — 4z* + 3

atx=0is

o Watch Video Solution

12. The points E, F, G and H are on the sides AB, BC,

CD and DA respectively of the rectangle ABCD , such


https://dl.doubtnut.com/l/_VHD48o3u9d6q
https://dl.doubtnut.com/l/_uj1X6Psq0tRQ
https://dl.doubtnut.com/l/_8LzLl1crPHZu

that AE = BF = CG = DH . Prove that EFGH is a

parallelogram.

o Watch Video Solution

13. Determine whether the given value of x is a zero
of the given polynomial or not 2% + 62 + 5 at x = -1

and x=-5

o Watch Video Solution

14. Determine whether the given value of x is a zero

of the given polynomial or not z? +x + latx=-1



https://dl.doubtnut.com/l/_8LzLl1crPHZu
https://dl.doubtnut.com/l/_X9GhRtHYEOzT
https://dl.doubtnut.com/l/_yAXDqBX0lgbb

o Watch Video Solution



https://dl.doubtnut.com/l/_yAXDqBX0lgbb

